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Code Mo: 13148
CAWATHARLAL NEHRU TECHNOLOGICAL UNIVERSIT Y HYBIERADAD
B. lcch I Year I Semester £xaminations, \/Lw/lum e
ST MATHEMATICS I N
(Commori"to Cl ML MCT MMI Mllu, CEI MS’\‘ [)

Time: 3 hours Ma‘( Marl\s 75

Note: This question paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A.

Part B consists of 5 Units. Answer any one full question from cach unit. Each
10.marks and may have a, b, cas sub qucshons : : A

question carric

o : Part—‘"A"(ZS Marks) ‘.

l.a) Find lin(}f(l), if L(f(/)) . [2]
= ‘f \l’

 Find the inveréé Laplace TranS'iibl'ln’vﬂ()t&” SR 13}

¢)  Find the value of |.: dx . [2]

l+x*
] )
d)  Evaluate fo al! (1 —.\‘)I( dx.

e) F md thc area enc[oecd bclwem the pmabola y =T ulld lhu line y=ux.

I)F valmtc J. x.dx L AT L ,
g Find the magnitude of the g:radxent ofthe function f(\ y,z)=xyz at (l 0, 2). [2]
—x7 )/ Find the curl V.

h)  The velocity vector in 2-dimensional field is V = 2xpi +(_y"

0. Fmd the Curl ofthe gradient ofthe scalar field V' = ’?A -, + 3} z +4 ) 2]

i nd the dlvergence ofthe vecio ..held A at( Aol

Part-B (50 Marks)

. State.and prove the.second shifting theorem of Laplace Transform. ..

[5+5] ]
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3.2)  Find the Iootace Transform of (1) =a+b —

i
Ld’ f e e e e
3 @olvc ucmc7 l i ace "lranstorm J,/ +£l—?y = 3cos gf—l 1sin )/
. . ; fedl dt _ : .
...... s =
4.a)  Show that ff\/tanﬁ do = .‘3 Jeotd df =
AV
B(m+1,0)
b)  Evaluate AT 2T 3]
5. m—+~—j-—' \/_,.1 (2m).m>0. Co
2/ 2 '
6. Find the mass, center of gravity and moment of inertia r¢ . v to and
origin of a rectangle 0 <x < 4, 0< y <2 having the mass ty fu
OR
1 2=y
7. Change the order of integration in J') }-? xvdyv deand int 1 0]
8.a)  Show that c/iv(r";) :(n+3)r‘”
b), M wu=—~rfind g/‘(l(/(d_/‘v u). S Pl
- . . bR e
9.a)  Show that div (2 X B) = B.curl A— A.curl B.
b) Find the gradient of the Scalar function (s .Z) =xty oot 5450
} Aol ik
over the rectanoular paiallelep ped "'0 << a, 0 < y < b, C“r
OR
11.  Evaluate q}‘xzdx+2ydy—dz by Stoke’s theorem wher s the e 2 by s <2
---00000---
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